Determine whether the series converges or diverges. If it is convergent, find its sum.
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Determine if the series converges or diverges. If it converges, find its sum.
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Giiven the following table of values for ¢, which partial sum of the series
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Jiven Eae &R | Converges

Find all of the series below that are convergent but not absolutely convergent.
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In the Taylor series for e2* centered at @ = 3, what is the term that contains (x — 3)
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5) Which of the following follows from the remainder formula in a Taylor

series? i
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